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Der deutsche Pianist und Komponist Robert Schumann war ein bedeutender Musiker der deutschen
Romantik. Er wurde am 08. Juni 1810 in Zwickau geboren. Er war eines von sechs Kindern des
Buchhéndlers August Schumann. Durch den Beruf seines Vaters hatte er die *Gelegenheit, neben dem
Gymnasium auch viel in seiner Freizeit zu lesen.
Er erhielt mit sieben Jahren Klavierunterricht. Im Alter von elf Jahren komponierte er sein erstes Werk
fir Klavier und Orchester. Nachdem sein Vater gestorben war, ging er zum Studium der
Rechtwissenschaften nach Heidelberg und Leipzig. Dort begann er Klavierunterricht bei Friedrich Wieck
zu nehmen und beschiiftigte sich total mit der Musik. Eine Karriere als Pianist war ihm durch eine
*Liahmung an der rechten Hand unméglich, deshalb konzentrierte er sich auf das Komponieren.
1834 griindete er mit anderen Musikern zusammen die "Neue Zeitschrift fiir Musik". Im Jahre 1840
heiratete er Clara Wieck, eine bekannte Pianistin. 1843 wurde Schumann Lehrer am Leipziger
Konservatorium. Wegen seiner Nervenprobleme, wurde er in eine Nervenklinik in Bonn gebracht, wo er
noch zwei Jahre lebte. Am 29. Juli 1856 ist er in Bonn gestorben.
Robert Schumann hinterlieB zahlreiche Werke und musikwissenschaftliche Schriften.
Classic- Arietta
das Komponisten Lexikon
(verarbeitet)

-

* Gelegenheit : L’occasion / 4w dll
* Lghmung : L’handicap /

1. TEXTVERSTANDNIS (07 Pte)
1. richtig oder falsch ? Begriinden Sie Ihre Antwort mit einem Zitat aus dem Text.

R F

a) Robert Schumann war das Einzelkind seiner Eltern.
Zitat:
b) Als Kind war das Lesen seine beliebte Freizeitbeschéftigung.
Zitat: -
¢) Seine Frau war keine Musikerin.
Zitat: -- — —
d) Er hinterlieB nur einige Werke.
Zitat:

2. Fragen zum Text.
a. Wer war Robert Schumann?
b. Wann und wo wurde Robert Schumann geboren?
¢. Wie alt war er, als er sein erstes Werk komponierte?
d. Erkliren Sie den Satz: ,,Fine Karriere als Pianist war ihm durch eine Lhmung an der rechten Hand

unmdglich®
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3. Geben Sie dem Text einen Titel.

4. Kombinieren Sie.

1. Blicher a. Konservatorium
2. Jura b. Theater
3. Musik ¢. Buchhandlung
4. Schauspieler d. Rechtwissenschaft
1 2 3 4

II. SPRACHFAHIGKEIT (08 Pte)

A) Wortschatz
1. Ersetzen Sie das unterstrichene Wort durch ein Synonyvim aus dem Text.
Robert Schumann war ein berithmter Musiker. Seine Frau war auch eine ............... Pianistin.
2. Ersetzen Sie das unterstrichene Wort durch ein Gegenteil aus dem Text.
Er beendete seine Karriere als Pianistund ............... am Leipziger Konservatorium zu unterrichten.
3. Wortbildung

a- Bilden Sie aus diesem Verb das passende Substantiv.
komponieren: d. ... . ucresmssxessninss
b- Bilden Sie aus diesem Verb das passende Adjektiv.
BITBICHENS oo wnmssvon sims
4. Ubersetzen Sie den folgenden Satz ins Arabische.
»Der deutsche Pianist und Komponist Robert Schumann war ein bedeutender Musiker der deutschen
Romantik*

B) Grammatik
1. Setzen Sie den folgenden Satz ins Perfekt.
Der Musiker erhielt mit sieben Jahren Klavierunterricht.
2. Setzen Sie den folgenden Satz ins Prisens.
Der Kiinstler unterrichtete am Berliner Konservatorium.
3. Setzen Sie den folgenden Satz ins Passiv.
Der Musiker hat viele Werke komponiert.
4. Deklinieren Sie.
D... klein... Kind beschéftigte sich auch mit d... klassisch... Musik.
5. Bilden Sie einen Konditionalsatz.
Der Kiinstler hat eine Lihmung. Seine Karriere als Pianist ist unméglich.
6. Bilden Sie einen Finalsatz mit ,,damit“ oder ,,um...zu%.
Die Familie fahrt dieses Wochenende nach Weimar. Sie will dort ein Theaterstiick sehen.

1. SCHREIBFAHIGKEIT. (05 Pte) (Ein Thema zur Wahl)

Thema 1: Schreiben Sie kurz tiber eine(n) algerische(n) oder deutsche(n) Kiinstler / in.

Thema 2: Anhand folgender Stichpunkte schreiben Sie eine kurze Biografie von dem algerischen
Schriftsteller Mohamed Dib.
Geburtsdatum: 21. Juli 1920
Geburtsort: Tlemcen (Westalgerien)
Titigkeiten: Lehrer; Oujda- Marokko, Los Angeles-Universitiit, Sorbonne- Paris.
Andere Titigkeiten: Ubersetzer, Buchhalter und Journalist (Alger Républicain und Liberté)
Werke: La Grande Maison, L'Incendie, le métier 4 tisser.
Preise: Grand Prix de la Francophonie de I'Académie Frangaise.
Tod: 02. Mai 2003/ La Celle- Saind- Cloud bei Paris.
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Osterreich

Osterreich wird oft Alpenland genannt, denn rund 60 % ihrer Fliche sind Teil der Alpen. Mit 3797
Metern ist der GroBglockner der hochste Berg des Landes. Dieses deutschsprachige Land in
Mitteleuropa ist als Urlaubsland sehr beliebt: Viele Leute kommen im Winter zum Skifahren und im
Sommer zum Wandern*. Der Tourismus ist eine der wichtigsten Wirtschaftsbranchen des Landes.
Osterreich ist mit 83 872 Km? grofer als die Schweiz, sein Nachbarland im Westen. Es hat noch mit
siecben anderen Lindern gemeinsame Grenzen: im Siidwesten mit dem Liechtenstein, im Stiden mit
Slowenien und Italien, im Osten mit Ungarn und der Slowakei, im Nordosten mit der Tschechischen
Republik und im Nordwesten mit Deutschland. Osterreich hat ungeféhr 8,3 Millionen Einwohner und
besteht aus neun Bundeslindern: Burgenland, Karnten, Niederdsterreich, Oberdsterreich, Salzburg,
Steiermark, Tirol, Vorarlberg und Wien als Hauptstadt mit 1,7 Millionen Menschen. Wien ist die Stadt
der Musik, des Theaters und der Kunst.
Osterreich ist ein hoch entwickeltes Industrieland. Zwei Drittel der Exporte gehen in die Europdische
Union. Die wichtigsten Industriebranchen produzieren in den folgenden Bereichen: Chemie,
Fahrzeuge und Maschinen. Nur 6% der Osterreicher arbeiten noch in der Landwirtschaft. Auflerdem
ist Osterreich der erste Produzent von Wasserenergie in der Europdischen Union, denn es hat
zahlreiche Wasserkraftwerke* an den vielen Fliissen.

Aus : www.oesterreich-auf-einen—blick.de

*das Wandern . la promenade a pied / dJao¥! e da il
*die Wasserkraftwerke : les centrales hydrauliques / Aiell 8Ualt 2 5 cildaas

LTEXTVERSTANDNIS. (07 Pte)

1.Richtig oder falsch? Begriinden Sie Ihre Antwort mit einem Zitat aus dem Text.
R _|E

a. Osterreich liegt in Mitteleuropa.
2 i
b. Die offizielle Sprache ist Deutsch.
R
c. Osterreich grenzt nicht an die Schweiz.
e e R e e e el :
d. Osterreich ist nur ein Urlaubsland.
e |

2. Fragen zum Text.
a. Warum ist Osterreich oft Alpenland genannt?
b. Was ist die bekannteste Wirtschaftsbranche in Osterreich?
c. Welche Industriebranchen sind in Osterreich wichtig?
d. Erkldren Sie den folgenden Satz: ..Osterreich ist als Urlaubsland sehr beliebt.

3.Kombinieren Sie.

1. Flache a. Stadt

2. Salzburg b. Strom 7 5 3 i
3. Donau c. 83.872 Km2

4 Alpen A Berme = et s | e




4. Ergiinzen Sie.
- Osterreich ist eine ........... mit neun Bundeslidndern. Euro
- Osterreich istein ........... Land . Tourismus
= DBL e ist wichtig in Osterreich. Bundesrepublik
- In Osterreich wird der ........... als Wahrung verwendet. seenreiches

II. SPRACHFAHIGKEIT (08 Pte)

A. Wortschatz.
1. Ersetzen Sie das unterstrichene Wort durch ein Synonym aus dem Text.
- Die Agrikultur spielt eine wichtige Rolle in der Okonomie des Landes.
2. Ergiinzen Sie das Gegenteil des hier unterstrichenen Wortes aus dem Text
= ) e Auslénder leben in Wien, aber nur wenige von ihnen sprechen gut Deutsch .
3. Wortbildung.
a- Bilden Sie aus dem folgenden Adjektiv das passende Substantiv.
Tl 61 oo LM AP S
b- Bilden Sie ein Kompositum.
die Kultur + das Zentrum = «.vow covsviconi
4.Ubersetzen Sie ins Arabische.
« Osterreich ist ein hoch entwickeltes Industrieland. »

B. Grammatik.
1. Setzen Sie ins Priteritum .
Viele Leute kommen im Winter zum Skifahren.
2. Setzen Sie ins Perfekt.
Im Winter fahren viele Touristen in die Alpen.
3. Setzen Sie ins Passiv.
Osterreich erzeugt die besten Milchprodukte.
4. Bilden Sie einen Finalsatz mit ,.damit* oder ,,um...zu*.
Osterreich modernisiert sein Wirtschaftssystem. Es bleibt ein wichtiger Handelspartner in Europa.
5. Ergiinzen Sie mit der passenden Konjunktion ( wenn- dass- weil- sowohl...als auch).

- Man sagt, ....... Wien eine der schdnsten Stidte in Europa ist.

=i die Auslénder nach Osterreich kommen, besuchen sie Salzburg.

- Osterreich bietet eine moderne Infrastruktur ........ fiir die Urlauber ....... fiir die Geschiftsleute.
- Viele ausldndische Investoren sind présent in Osterreich, ........ es dort viele Moglichkeiten gibt.

6. Deklinieren Sie.
Osterreich ist ein beliebt.... Land fiir d.... Touristen aus d.... ganz.... Welt.

II1. SCHREIBFAHIGKEIT. (05 Pte) (Ein Thema zur Wahl)

Thema 1 : Berichten Sie kurz tiber Algerien und seine Okonomie.

Thema 2 : Berlin ist eine der wichtigsten Hauptstédte in der Welt .
Schreiben Sie anhand folgender Stichpunkte einige Zeilen dazu.

Lage : im Osten von Deutschland

Fliche : 892 Km2

Einwohnerzahl : 3,5 Millionen , davon 502 181 Ausliander

Status . Hauptstadt seit 1990 und Bundesland
Infrastruktur : U-Bahn , S-Bahn , Hauptbahnhof, zwei Flughéfen

Sehenswiirdigkeiten : das Brandenburger Tor, der Potsdamer Platz, der Alexanderplatz
der Fernsehturm , Unter den Linden ...
Weltstadt . Kultur, Politik, Medien und Wissenschatften.
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I. TEXTVERSTANDNIS
1. richtig oder falsch
a. falsch
Zitat: Er war eines von sechs Kindern des Buchhéindlers August Schumann.
b. richtig
0.25x4 | Zitat: Durch den Beruf seines Vaters hatte er die Gelegenheit, neben dem Gymnasium auch
viel in seiner Freizeit zu lesen.
¢. falsch
Zitat: Im Jahr 1840 heiratete er Clara Wieck, eine bekannte Pianistin.
07 d. falsch
Zitat: Robert Schumann hinterlie zahlreiche Werke und musikwissenschaftliche Schriften.
2. Fragen zum Text
a. Robert Schumann war ein bedeutender Musiker der deutschen Romantik.
Oder: Robert Schumann war ein deutscher Pianist und Komponist.
01x4 | b. Robert Schumann wurde am 8. Juni 1810 in Zwikau geboren.
¢. Als er elf Jahre alt war, komponierte er sein erstes Werk fiir Klavier und Orchester.
Oder: Er war elf Jahre alt, als er sein erstes Werk fiir Klavier und Orchester komponierte.
d. Satzerklirung: Wegen seiner Libmung an der rechten Hand, beendete er nicht seine
Karriere als Pianist.(Andere Antworten werden beriicksichtigt).
01 3. der Titel: Robert Schumann / Biografie von Robert Schumann.
(Andere Titel werden auch beriicksichtigt.)
4. Kombinieren Sie
0.25x4 1 2 3 4
d a b
II. SPRACHFAHIGKEIT
A) Wortschatz
0.5 1. Synonym: bekannte
0.5 2. Gegenteil: begann
3. Wortbildung:
0.5 a. das Substantiv: das Komponieren/ die Komposition
0.5 b. das Adjektiv: erreichbar
01 | 4. Ubersetzung : .l gpuailags suoalt (B fisgia clash Cubia) (il (auagall 9 gl cfle oS
B) Grammatik
08 01 1. Perfekt: Der Musiker hat mit sieben Jahren Klavierunterricht erhalten.
0.5 2. Prisens: Der Kiinstler unterrichtet am Berliner Konservatorium.
01 3. Passiv: Viele Werke sind vom (von dem) Musiker komponiert worden.
01 4. Deklination: Das kleine Kind beschiftigte sich auch mit der klassischen Musik.
5. Konditionalsatz:
01 Wenn der Kiinstler keine Lihmung hitte, wiire seine Karriere als Pianist moglich.
6. Finalsatz:
0.5 Die Familie fihrt dieses Wochenende nach Weimar, um dort ein Theaterstiick zu sehen.
Oder:
Die Familie fihrt dieses Wochenende nach Weimar, damit sie dort ein Theaterstiick sieht.
III. SCHREIBFAHIGKEIT
01 - Plan
05 03 - Orthografie/ Stil / Ideen /Wortschatz
01 - Grammatik
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I. TEXTVERSTANDNIS

1. Richtig oder falsch ?

a. richtig: “ Dieses deutschsprachige Land in Mitteleuropa .”

0.25x4 | b. richtig: “ Dieses deutschsprachige Land .

c. falsch: “ ...die Schweiz , sein Nachbarland im Westen.”

d.falsch: “Die wichtigsten Industriebranchen ........... Maschinen™

2. ¥ragen zum Text.

a.Osterreich ist oft Alpenland genannt, denn 60% ihrer Fliche sind Teil der Alpen.
07 1x4 | b. Der Tourismus ist die bekannteste Wirtschaftsbranche in Osterreich.

¢. Die Industriebranchen sind Chemie, Fahrzeuge , Maschinen und Wasserkraft.
d. Satzerkldrung: “Viele Leute machen Urlaub in Osterreich, weil das Land den Touristen viele
Moglichkeiten bietet.” .(Andere Antworten werden beriicksichtigt).

0.25x4 | 3. Kombinieren Sie.

1 2 3 4
c a b d
0.25x4 | 4. Ergéinzen Sie. a. Bundesrepublik / b. seenreiches / ¢. Tourismus / d. Euro

II. SPRACHFAHIGKEIT

A. Wortschatz.

0.50 | l.das Synonym : die Agrikultur = die Landwirtschaft
0.50 | 2.das Gegenteil : wenige # viele oder zahlreiche

3. Wortbildung .

0.50 | a. das passende Substantiv : die Wichtigkeit

0.50 | b. das Kompositum : das Kulturzentrum

08 1 c. die Ubersetzung ins Arabische : faayohaia ooliva aly Ludill
B. Grammatik .
0.50 | 1.Priteritum : ... kamen ..... .
0.50 | 2.Perfekt:....sind ...... gefahren.
1 3. Passiv: Die besten Milchprodukte werden von Osterreich erzeugt.
1 4. Finalsatz: Osterreich modernisiert sein Wirtschaftssystem, damites ......... bleibt.
oder: ..., um ein wichtiger Handelspartner zu bleiben.
0.25x4 | 5. Konjunktionen: dass / wenn / sowohl...als auch / weil .
0.25x4 | 6. die Deklination : Osterreich ist ein beliebtes Land fiir die Touristen aus der ganzen Welt .
III. SCHREIBFAHBIGKEIT
05 01 - der Plan
03 - Orthografie / Stil / Ideen / Wortschatz
01 - Grammatik

T (106 )
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Hyperliens, multimédia, instantanéité... Autant de facettes d’unc méme révolution numérique qui
afiecterait notre fagon d'aceéder 3 l'information, de mémoriser ¢t de penser. Mais jusqu'on ? La toile nous
rend-¢lle plus béte, faisant de nous des personnes web-dépendantes ? Nos csprits'dcyicnncnt-ils csclaves
des nouvelles technologices ?

Depuis la diffusion en 2008 d'un article polémigue " Est-ce que Google nous rend idiots ?" signé
par Vessayiste ¢t blogueur américain Nicholas Carr dans la revue The Atlantic, le débat fait rage. "Ma
facon de penser a changé ", déclare cet essayiste, qui précise : "Auparavant, j'étais comme un plongeur
dans une mer de mots. Désormais, je fends la surface comme un pilote de jet-ski",

L'""Homo inteneticus" rappelle Carr, est en connexion permanente. 1 lit ou rédige ses e-mails. 1l
parcourt ¢n paralléle la presse en ligne, écoute un podcast, regoit une vidéo youltube, tend l'oreille vers son
MP3. _
Aussi, notre cerveau absorbe énormément d'informations dans un méme temps. Ces sollicitations
diverses sont sources de distraction ct de dispersion. Nous pratiquons une lecture diagonale, diffuse et
parfois superficielle. Et. au bout du comptc, cela pourrait éroder nos capacités de concentration, voire de
réflexion et d'analyse. Jusqu'd, soutiennent les cassandres* des nouvelles technologics, changer notre
mani¢re méme de penser le monde... E

Pour Nicholas Carr, I'nternct figure pani les "outils de l'esprit" qui ont profondément modifié les
modes de pensée de humanité, a l'instar de l'alphabet (I'arrivée de l'écrit aux dépens de l'oralité), de la
cartographi¢ (notre relation a I'espace) ou encore de horloge mécanique (le découpage du temps).

Le fonctionnement méme de notre cerveau qui, - ¢'est désormais connu, ¢st un organe malléable et
¢n état d' "apprentissage permanent”- serait dircctement affecté par omniprésence de 'Internet dans nos
vies. Lequel serait & la fois & notre service et notre "maitre".

Un phénoméne qui, par ailleurs, ne se limite pas au seul web. Les autres nouvelles technologies de
Tinformation et de la communication étant ¢galement source d'éparpillement : la télévision digitale et ses
diverses sollicitations (encarts de pubs, textes qui défilent...), les jeux en réscaux, le téléphone portable et

ses applications toujours plus nombreuses.

D'aprés Hugues DORZEE, "le web nous rend-il pius bétes 7"
Le Soir, 18/11/2010

Mot expliqué :
*Cassandre: personne qui prédit.
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Questions

I- COMPREHENSION : (12 points)
l. Le théme traité dans le texte s'articule autour de ;
- linfluence des nouvelles technologics sur nos relations sociales.
- linfluence des nouvelles technologies sur notre vic économique.
- l'influence des nouvelles technologics sur notre mode de réflexion.
Recopiez la bonne réponse.

2. L"Homo interncticus" cst en connexion permanente. L'expression "Homo interneticus” désigne :
- celui qui critique Internet.X
- celui qui utilise Internet.
= cclui qui défend Internet.
Recopiez la bonne réponse.

3. Relevez du 2™ paragraphe une expression de sens équivalent & « polémique ».

4. Les nouvelles technologies contrélent nos pensées.
Relevez du texte une phrase qui exprime la méme idée.

5. Classez les expressions suivantes : parcowrir la presse en ligne - éroder nus capacités de
concentration — personnes web-dépendantes - source de distraction, selon qu'elles renvoient a :
- Intemetest A notre Service : .ovuvuvivvnreenrnnnnnnn, Y eneanenaen e mmnanzgnaanana
- Internetest notre maitre © ......oevm3eunininnn . Porarrerannneanns

6. « Désormais, ie fends la surface. » (2™ paragraphe)
« lit ou ndngc ses e-mails. » (3*" paragraphe)
« Lequel serait & la fois 4 notre service... » (6°™ paragraphe)
A quoi renvoic chacun des mots : « je », « ses » et « lequel » 7

7. ATlexemple de I’Internet, d’autres outils ont révolutionné le mode de pensée de I’humanité.
Relevez deux exemples cités dans le 5™ paragraphe.

8. Dans la demiére phrase du texte, les deux points (:) introduisent :
- une énumération - une explication - unc définition
Recopiez la bonne réponse.

9. Complétez I'énoncé ci-aprés en employant les termes suivants
informationnel — alphabet — discernement - capacité — complétement - écrit

A Pcxemple de .ovevnnnenn. avec I'arrivée de I'............ , les nouvelles technologies ont
.............. changé notre mode de pensée. En effet, le flux ............influe négativement sur notre
AR RPNOS de réfléchir et notre........c...... intellectuel.

10. Trouvez un titre qui convient au texte.

II- PRODUCTION ECRITE : (08 points)
Traitez un sujet au choix.

1. Rédigez le compte-rendu critique du texte que vous venez de lire. Le compte-rendu sera publié¢
sur le site de votre lycée. (150 mols environ)

2. Beaucoup de personnes cstiment qu'lnternet a facilité et démocratisé l'accés a l'information,
D'autres, par contre, pensent que cette information est surchargée et superficielle. Rédigez un texte
d'une quinzaine de lignes dans lequel vous exprimerez votre opinion en I'appuyant par trois
arguments et des exemples précis,

4 02 inio
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L'écho des manifestations de décembre a été trés grand aussi bien en Algérie qu'en France et
dans le monde entier. Les populations urbaines, en particulier algéroise, ont remporté une réelle victoire
psychologique et politique. Certes, elles I'ont payé trés cher : officiellement plus de cent morts et prés de
cing cents blessés, sans compter ceux évacués et soignés par les postes de soin des manifestants eux-
mémes.

Des Frangais ont cruellement ou amérement ressentis ces manifestations, les Pieds noirs ont été
outrés d'avoir été "nargués” par les drapeaux de fellaghas en pleine capitale; "ceux qui avaient cru a la
fraternisation" d'un certain 13 mai étaient sidérés. Un officier frangais déclare au journal Le Monde qu'il
s'agit d'un "véritable Dien Bien Phu". De Gaulle se rend compte de I'échec de sa derniére manceuvre
politique, celle de 1"Algérie algérienne", il en tire des conclusions : "tous les musulmans sont
nationalistes et regardent avec sympathie le FLN (...) Nous assistons a la gestation d'une Algérie
nouvelle, elle se fait, elle va naitre, elle est en pleine évolution psychologique et politique." La troisiéme
force n'existe pas, il va falloir trouver autre chose. Les manifestations de décembre ont fait renaitre
I'espoir chez les Algériens, que ce soit sur le plan international ou a l'intérieur du pays, au niveau des
masses populaires, des militants et des responsables.

Outre 'écho mondial des manifestations transmis par la presse internationale, des messages du
président du GPRA ont été envoyés a 'ONU et aux chefs des gouvernements amis. Un "appel a la
solidarité des pays arabes" a été lancé par Ferhat Abbas. Les réponses ont été nombreuses. Citons
seulement quelques unes : celle exprimant "une indignation extréme" de Chou en-Lai, celle de Tito
soutenant "les aspirations justifiées du peuple algérien"”, celle de Nasser dénongant "une odieuse
agression", celle du roi du Maroc affirmant sa solidarité "avec 1'Algérie sceur "... Tous les ambassadeurs
des pays arabes accrédités a Tunis ont exprimé leur solidarité totale avec le peuple algérien. Il en a été
de méme pour les organisations syndicales de Chine, du Maroc, d'Allemagne, d'URSS...

Mahfoud Keddache, « Et I'Algérie se libéra 1954 -1962 »,
EDIF 2000, Paris Méditerranée 2003

Questions

I- COMPREHENSION : (12 points)

1. L'auteur de ce texte est :
- un historien
- un journaliste
- unresponsable politique
Recopiez la bonne réponse.

2. L'auteur précise que les manifestations de décembre étaient une réussite politique.
Relevez dans le texte deux (02) expressions qui le montrent.

3. Les manifestations de décembre ont coiité trés cher en vies humaines.
Relevez du 1% paragraphe 1’expression qui le montre.

4 0 3 inio
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4. Les Pieds noirs ont été outrés d’avoir été « nargués » par les drapeaux de Fellaghas en pleine
capitale. Le mot « capitale » renvoie a :
- Alger
- Moscou
- Paris
Recopiez la bonne réponse.

5. " De Gaulle se rend compte de I'échec de sa derniére manceuvre politique”.
De quelle manceuvre politique s'agit-il ?

6. L'auteur prend position pour les faits cités dans le texte.
Relevez quatre (04) marques de subjectivité.

7. Parmi ces quatre phrases, deux seulement sont en relation avec les idées du texte.
- Les manifestations de décembre ont eu I’écho espéré pour l'indépendance.
- Les manifestations des Algériens ont échoué politiquement.
- Chou en-Lai condamne la répression des manifestations.
- De Gaulle a réussi dans sa politique en Algérie.
Recopiez les deux (02) bonnes réponses.

8. « il en tire des conclusions »
Que désigne chacun des deux pronoms personnels « il » et « en ».

9. Dans ce texte, I’intention de l'auteur est de :
- Rappeler les circonstances du déroulement des manifestations de décembre.
- Préciser les conséquences politiques des manifestations de décembre.
- Dénoncer la participation des Algériens aux manifestations de décembre.
- Rendre hommage 4 la lutte pacifique du peuple algérien contre le colonisateur.
Recopiez les deux (02) bonnes réponses.

10. Donnez un titre a ce texte.

II-PRODUCTION ECRITE : (08 points)
Traitez un sujet au choix.

1. Rédigez le compte-rendu critique du texte que vous venez de lire. Ce compte-rendu fera l'objet
d'un exposé a 'occasion de la commémoration des manifestations du 11 décembre. (150 mots
environ)

2. La mobilisation héroique du peuple algérien, tout au long de la guerre de libération, a ¢té décisive
pour arracher I'indépendance. Rédigez, en une quinzaine de lignes, un texte argumentatif pour
rendre hommage a cette mobilisation. Appuyez votre texte par trois arguments et des exemples
précis.

4 p 4 i
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1 Le théme traité dans le texte s’articule autour de :
L'influence des nouvelles technologies sur notre mode de réflexion.

2 "Homo interneticus" désigne : celui qui utilise Internet

3 Polémique : le débat fait rage

-

4 - Nos esprits deviennent-ils esclaves des nouvelles technologies?

- La toile nous rend-elle plus béte, faisant de nous des personnes web-
dépendantes ?

- Le fonctionnement méme de notre cerveau serait directement affecté
par l'omniprésence de l'internet dans nos vies. i

Accepter : Lequel serait notre maitre

0.25x4

5 Internet est 3 notre service : parcourir la presse en ligne / source de
distraction

Internet est notre maitre : éroder nos capacités de concentration / personnes
web-dépend

0.25x3

6

-« je » : le pronom désigne « Nicholas Carr».

-« ses » : ’adjectif possessif renvoie & "Homo interneticus" accepter : il
- « lequel » le pronom renvoie & « Internet »

0.5x2

7 Les deux exemples cités :
L’alphabet — la cartographie — ’horloge mécanique

8 Les deux points (:) introduisent : une énumération

15

0.25x%6

9 Les mots et les expressions dans I’ordre : — alphabet — écrit —
complétement — informationnel — capacité — discernement .

L5

10 Accepter tout titre en relation avec la thématique développée dans le
texte. Exemple : -Internet, serviteur ou maitre ?
-L’influence d’internet sur notre mode de pensée

ALiiq)
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1 Un historien

0.5x2

2 -L’écho des manifestations a été trés grand
- Remporté une réelle victoire
- Ceux qui avaient cru.. étaient sidérés
- De Gaulle se rend compte de I’échec
- Gestation d'une Algérie nouvelle
- Les manifestations ont fait renatre I’espoir
- outre 1’écho mondial

3 plus de cent morts et prés de cing cents blessés

0.5

4 "capitale" renvoie & Alger

5 L'Algérie algérienne

0.5x4

6 Marques de subjectivité : écho trés grand / réelle victoire / cruellement ou
amérement / Algérie nouvelle / indignation extréme / odieuse agression /

0.75x2

7 - Les manifestations de décembre ont eu 1’écho espéré pour
I’indépendance
- Chou en Lain condamne la répression des ifestation

-

8 - Le pronom "il" désigne : De Gaulle
- Le pronom "en" renvoie & : échec de sa derniére derniére politique

15

0.75x2

9 L’intention de I’auteur est de :
- Préciser les conséquences politiques des manifestations de decembre
- Rendre hommage  la lutte pacifique du peuple algérien contre le
colonisateur

-
wun

10 Accepter tout titre en relation avec la thématique du texte.
Exemple : - Les manifestations de décembre, leurs échos.
- La lutte pacifique du peuple algérien.

Ahii 12
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| T-PRODUCTION ECRITE (8 pts)
Sujet 1 (compte -rendu)
1. Organisation de la production (3 pts)
0.5

-- Présentation du texte (mise en page)

-~ Cohérence du texte

3 0.25x4 | - Progression des informations
- absence de répétitions

- absence de contre sens

- emploi de connecteurs

6.5x%x3 | - structure adéquate (: he — résumé - ire)
2.Planification de la production (2 pts)
I - Choix énonciatif en relation avec la consigne
2 B - Choix des informations (sélection des informations essentielles)

3. Utilisation de la langue de fagon appropriée (3 pts)

3 01 -- Correction des phrases au plan syntaxique
0.5 -- Adéquation du lexique 2 la thématique
0.5 - Utilisation adéquate des signes de ponctuation
0.5 — Emploi correct des temps et des modes
0.5 - Orthographe (pas plus de 10 fautes pour un texte de 150 mots environ)
Sujet 2 (Production libre)

1.Organisation de Ia production (3pts)

0.5 -- Présentation du texte (mise en page selon le type d’écrit demandé)
3 -- Cohérence du texte
025x4 | - Progression des informations
- absence de répétitions
- absence de contre sens
- emploi de connecteurs
05x3 | — structure adé (introduction — développ: - ion)
2. Planification de la production (2 pts)
2 o1 -- Choix énenciatif en relation avec la consigne
o1 — Choix des informations (originalité et pertinence des idées)
3.Utilisation de la langue de facon appropriée (3pts)
01 - Correction des phrases au plan syntaxique
0.5 - Adéquation du lexique 2 la thématique
3 0.5 — Utilisation adéquate des signes de ponctuation
0.5 - Emploi correct des temps et des modes
0.5 - Orthographe (pas plus de 10 fautes pour un texte de 150 mots environ)
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Part One: Reading (14 points)
A ) Comprehension (07 points)

Read the text carefully and do the activities.

When I graduated from college, I had a master’s degree in finance. I was convinced I was now ready
to conquer the world. I could pave my way to wealth, simply by holding that degree. I was exhausted
studying and reading those boring books which didn’t have the word “romance” in the title.

So, happily, I moved down the path of life. I took various positions: banking, accounting, and finally
auditing. Later, I began taking a serious look at my life. Was this really what school had taught me?
Wasn’t there more to life than simply holding a job? How was I supposed to find my true vocation?

¢>1 began sitting at my desk contemplating my future. Surely there were others out there like me who
began to question their fate and decided that their lives simply weren’t working for them any more, and
that a big change was necessary, or was I alone in this quest?

The funny thing about this long search is once you set your mind to do something, it’s easy to find
your answers. And the easiest way to find the answers is in writing. Books and magazines became my
best friends. I began reading anything and everything, getting a new type of education from listening to
what others had to say about success, life and the general pursuit of happiness. In fact, I discovered the
importance of a real education, not just an institutionalized one.

A true education, which is one of my favourite topics, begins with a desire to learn. As long as that
desire exists inside you; you can literally dominate anything. Knowledge is the key to success. It can
unlock any door you choose; simply by having the will to learn. You can become anything you dream of
and education is so easily achieved. Education is not synonymous with formal training. Education is
simply the desire to learn. And there are so many ways to learn.

Thomas Edison had only three months of formal education during his entire lifetime. Bill Gates
never completed college. Yet, every single one of these people became very successful in their lifetime.
They had a thirst for knowledge, and learnt what was important to them in any way they could .They
read. They educated themselves with happenings in the world around them. And they never gave up on
the formal education of life.

Adapted from: www.visionofsuccess.com

1. Choose the right answer.
The textis:  a- Expository b- Descriptive c- Narrative

2. Are these statements true or false? Write T or F next to the letter corresponding to the statement.
a. The writer could conquer the world because of his wealth. '
b. The school taught him much more about life than holding ajob.
¢. Schools are not the only way to get education and knowledge.

3. In which paragraph are the following ideas mentioned?
a- The writer’s reconsideration of his social position.
b- The success of celebrities.

4 a1 dada
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4, Answer the following questions according to the text.
a- How was the writer feeling about his success in school?
b- How did the writer discover the benefits of true education?
¢~ What did the two celebrities have in common? Mention two features.
5. Who or what do the underlined words in the text refer to?
a. this (§2) b. who (§3) c. you (§5) d. themselves (§6)
6. Give a title to the text.

B. Text Exploration (07points)

1. Find in the text words whose definitions follow:
a. to take control or possession of something by force. (§1)
b. a long search for something that is difficult to find. (§3)

2. Complete the following chart as shown in the example.

Verb Noun Adjective
[ Example to know knowledge knowledgeable
.................................... achievable
tOICONQUEE | wesessssvaspossmisssans | s eswsssamonies
................. education

3. Connect each pair of sentences with one of the words given. Make changes where necessary.
a. Some people did not receive enough formal education. They have become famous. (in spite of)
b. He graduated from college. He found a job. (as soon as)

4. Rewrite sentence (b) so that it means the same as sentence (a).
1. a. It would be advisable if you think carefully before choosing a job.

2. a. It can unlock any door you choose.
D ADY Q00T 1 eesoones susmnmsssssnmessssssunssnssnsssssss ssasinadansanisiossss

5. Re-order the following sentences to make a coherent paragraph.
a- They can also bring sustainable development.
b- Education should be directed to human rights' respect.
¢- These aspects of education can help achieve peace in the world.
d- It should promote understanding, tolerance and friendship.

6. Classify the following words according to the pronunciation of the final “ed”.

convinced -  educated - institutionalized - discovered
1t/ /d/ id/
Part Two: Written Expression (06points)
Choose ONE of the following topics:
Topic One:

Nowadays, a lot of youngsters are not interested in formal education. Do they share the writer’s
point of view, or do they have different reasons? Write a composition of about 120 to 150 words to state
your opinion. You can use the notes below:

lack of interest and enthusiasm - availability of leisure and facilities - poverty - absence of job
security...

Topic Two: The use of the Internet by children and teenagers pose an ethical dilemma. Write a paragraph

of about 120 to 150 words in which you state arguments to support this statement.

4 a2 dada



Part One: Reading (14 points)
A) Comprehension (07 points)
Read the text carefully and do the activities.

The Way to Development

It is normal for people to take pride in their past. Muslims take pride in the great Islamic civilizations
as well. In pre-modern times many civilizations flourished simultaneously, often with controversial
interaction at the overlapping fringes, where they interacted, learnt from each other and at times grated
and collided under the weight of the Empires.

Nostalgia is soothing, but to meet the challenges of the future, one should learn from the past, not live
in it. The indignities suffered from others should be a lesson for betterment, not an excuse for indolence
or revenge that perpetuate rather than heal the wounds.

With fast communications, the world has truly become so interdependent that all natural,
environmental as well as cultural developments have global effects and therefore, there is no insulation
from events. No place is distant any more, everyone affects everyone else.

In this small world a new model should emerge, that of a composite world civilization with everyone
being a contributor. Western civilization is not a Christian civilization though it has Christian roots.
Indians, Chinese and many other civilizations have made great contributions in the past and are on the
rise again. Muslims cannot go back to exclusively insulated Islamic civilization. Islam never preached
insulation. Muslims have a wonderful opportunity to affect the future by boldly practising the peace and
social justice that Islam preaches.

By: Mirza Aslam Beg

www.countercurrents.org
1. Write the letter which corresponds to the right answer a, b, or c.
The text is taken from:
a- a history book b- a website c- a newspaper article

2. Are these statements true or false? Write T or F next to the letter corresponding to the statement.
a- Many civilizations always developed in friendship and agreement.
b- Common frontiers helped interaction and exchanges among civilizations.
¢- The Islamic civilization learnt from the past to improve the present.
d- Isolation cannot cause a lot of harm to the Islamic civilization.

3. Read the text and put the following sentences in the order they appear in the text.
a- Mass media has transformed the world into a tiny village.
b- Past misunderstandings can teach people a lot of things about the future.
¢- Islam values can be taught through tolerance and openness.
d- Regardless to their differences, civilizations have learnt from each other.

4. Answer the following questions according to the text.
a- How did many civilizations develop and prosper?
b- In which way can Muslims affect the future?

5. Who or what do the underlined words in the text refer to?
a- where (§1) b- it (§2) c-it (§4) d- that (§4)

4 343 dada



B. Text Exploration (07 points)

1. Find in the text words or phrases that are closest in meaning to the following:
a- self-esteem (§1) b- injuries (§2) ¢- impacts (§3)

2. Find in the text words or phrases that are opposites to the following:
a- forgiveness (§2) b- close (§3) c- disappear (§4)

3. Divide the following words into roots and affixes.

words prefix root suffix
betterment
interaction
environmental

4. Ask the questions about the underlined words.
a- Many civilizations flourished simultaneously.
b- Indians, Chinese and many other civilizations have made great contributions in the past.

5. Rewrite sentence (b) so that it means the same as sentence (a).
1. a. Children’s education is going downgraded. Muslim countries must give it priority.
b IS RIoh NG s comsvnmesmsmmonssnmmmsses s oy npmsmms s
2. a. Although Muslim countries dispose of considerable resources, they remain underdeveloped.
b: Despite v scnim s s e

6. Fill in the gaps with words from the list below.
Knowledge - invasion - age - progress - led

Even in this modern...(1).....of enlightment, few people are aware of the significant contributions
made by the Islamic world to the ...(2)..... of humanity. Yet, for more than five centuries, that civilization
not only...(3).....the world in science, but was the only portion of mankind actively engaged in the
systematic pursuit of...(4).....

7. Classify the following words according to the number of their syllables.
people - collided - pride  interaction

One syllable Two syllables | Three syllables Four syllables

Part Two: Written Expression (06 pts)

Choose ONE of the following topics:

Topic one:

Today the Arab nation is facing serious problems. Is it a sign of its decline as a civilization? Write
a composition of 120 to 150 words to state your opinion.
You can use the following notes:

- instability / internal and external conflicts

- economic dependency / reliance on oil incomes

- attempts to solve out the situation.

Topic two:
Write a composition of 120 to 150 words on the following topic:
Some learners do not start hard work until the exams approach. What would you advise them to do?

-

4 04 dada
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| 14pts Part one: Reading
07pts A- Comprehension
0.5 0.5 1. a- Expository
01.5 0.5x3 2.a-F b-F c-T
01 05x2| 3.a-(§82) b-(§6)
02.5 0.75 4. a- proud / comfortable about the future / excited / delighted / enthusiastic /
i optimistic / happy.
0.75 b. Through reading and writing.
01 ¢. - Did nof graduate from school (did not complete college / did not
g complete formal education.) - both of them had a thirst for knowledge.
- both of them read. - both of them educated themselves. - both of them
became very successful/ famous. - never gave up on the formal education
of life.
01 0.25x4 5. a. this (§2): various positions ( banking, accounting, auditing, holding a job).
b. who (§3): others (other people).
c. you ((§5): readers / people / anyone /we /one /anybody.
d. themseleves (§6): they / Bill Gates & T. Edison
0.5 0.5 6. Title: True Education ( any other title related to a different view of education.)
07pts B- Text Exploration
0.5 0.25x2 1. a- to conquer
b- quest
01.5 0.25x6 2
Verb - Noun Adjective
(to) achieve achievement A L
I | conquest / conqueror | conquerable
' conquering (Gerund) | conquering
(to) educate I educational / educative
educated /educating
educable
01 0.5x2 3. a- In spite of not having received enough formal education, some people ...
- In spite of not receiving enough formal education, some people..............
- In spite of the fact that they did not receive...., some people have become...
b- As soon as he had graduated from college, he found a job.
- He found a job as soon as he had graduated from college.
01 0.5x2 4. 1. b-You had better think carefully before choosing a job.
- You should think carefully before choosing a job.
- You ought to think carefully before choosing a job.
2. b- Any door (you choose) can be unlocked.
02 0.5x4 5.0rder: b—d—-c—a
01 0.25x4 6.
| It/ /d/ fid/
convinced institutionalized educated
discovered
06pts Part two: Written expression
3.5 Topic 1: Form
2.5 Content
03 Topic 2: Form
03 Content
2 (a1 dada
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s [ T (AU f g gall) oY) salie  The Way to Development
14pts | Part one: Reading
07pts A. Comprehension

0.5 0.5 | 1.b.a website

02 | 05x4 |2.a°F b-T ¢-F d-F/

02 05x4 [3.d@1) -b(§2) —a(§3) —<c(§4)

1.5 0.75x2 | 4. a- Through interaction and exchange / They mteracted and leamt from each other.

| o b- By practising peace and social justice. v

01 | 0.25x4 |5. a- where (§1): (overlapping) fringes b- it (§2): the past
c- it (§4): western civilization d- that (§4): the peace and social justice.

07pts B. Text Exploration

0.75 | 0.25x3 | 1. synonyms: a- pride b- wounds c- effects

0.75 . | 0.25x3 | 2. opposites: a-revenge  b- distant C- emerge
3.

3 0.5x3 words prefix ____root suffix
betterment T better ment
interaction inter act ion
environmental TN ' environment al

| 01 | 0.5x2 | 4. Asking questions:
a- How did many civilizations flourish?
“ b- Which civilizations have made great contributions in the past?
- What (who) have made great contributions in the past?

01 0.5x2 | 5.1. b- It’s high time Muslim countries gave priority to children’s education.

2. b- Despite the disposal of considerable resources, Muslim countries remain
underdeveloped.

01 0.25x4 | 6. Gap filling: 1- age 2- progress 3- led 4- knowledge

01 0.25x4 | 7.

One syllable Two syllables Three syllables Four syllables
pride people collided interaction
O6pts Part two: Written expression
3.5 Topic 1: Form
2D Content
03 Topic 2: Form
03 .- Content
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En un mundo tan globalizado como el actual, aprender un idioma resulta basico para poder
sobrevivir en un mercado laboral tan competitivo. Hoy, las principales empresas de nuestro pais buscan
a personas que tengan un nivel intermedio en Inglés.

Manejar dos idiomas nos permite una mejor comunicacién en caso de realizar un viaje al
extranjero. En Inglaterra por ejemplo, cualquier jugador extranjero que participe en la Premier League
tiene por obligacién dominar el Inglés. En Espafia, Francia, Alemania e Italia también ocurre lo mismo,
lo que permite una mejor relacién entre el deportista con el aficionado’ y la prensa.

Conocer un idioma no s6lo implica aprender su vocabulario y sus verbos sino también su Cultura.
Con mi experiencia en haber aprendido Francés y actualmente Inglés, he podido conocer la Cultura y las
costumbres de los paises que acogen el idioma que aprendo. De Francia, conocia s6lo la Tour Eiffel o el
Museo de Louvre. En el tiempo que me llevo aprendiendo Francés, he podido conocer la Historia, la

Cultura y las costumbres de un pais tan importante como Francia.

La ensefianza de lenguas extranjeras es clave para la construccion de la identidad de la persona.
Ademés, no solo implica un mayor conocimiento de la lengua extranjera sino que permite un mayor
entendimiento de nuestro idioma nativo.

Aprender un idioma nos abre la puerta a un mundo lleno de oportunidades laborales y culturales
y resulta basico para que podamos responder en buena manera a las oportunidades que se nos presenten.

* Aficionado: fan.
Escrito por Daniel 5 Feb, 2010

I/ Comprension del texto : (07 puntos)

1- Indica si es verdadero o falso.

Justifica con una palabra o frase

Frases VI|F del texto

a- En un mercado laboral competitivo es

necesario aprender idiomas.

b- Aprender una lengua implica dominar sus

verbos y su vocabulario.

¢- Las lenguas extranjeras no nos permiten
entrar en el mundo laboral.

2- Actualmente, j, qué buscan las empresas?
3- Saca del texto los beneficios de aprender un idioma extranjero.
4- Da un titulo al texto.

4 a1 dada
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II/Competencia lingiiistica: (07 puntos)
1-Rellena el recuadro.
Verbo Sustantivo Adjetivo
Conocer’ || covsssmeremsinisve | sessemsepss vesmmog
.................................... Mejor
.................. Costumbre
Apreider. | sowssnens oo
2-Relaciona la palabra con su sinénimo o anténimo.
Bésico Trabajo
Antiguo Esencial
Conocimiento Saber
Labor Actual

3-«Poder dominar muchas lenguas para comunicarse con mucha gente del mundo. »

- Reescribe la frase empezando por :
= NOUEN s sonsvmessrmssasmmvsviai !

4- El aprendizaje de lenguas extranjeras es clave para saber su Cultura.
- Completa la frase:

- El aprendizaje de lenguas extranjeras es clave para que los jovenes......... su Cultura.

5- Completa con ser o estar:

- Aprender Inglés.......... indispensable para el futbolista que....... participando en la Premier League.

111/ Expresion escrita:

(06 puntos)

« Elige uno de los dos temas.

1- Actualmente y con la globalizacion, resulta importante aprender idiomas. ;, Por qué?

2- ;Cuales son los consejos y estrategias que facilitan el aprendizaje de un idioma extranjero dentro
y fuera del aula ?

4 a2 daia



m

La naturaleza es un organismo vivo, en el que todos sus elementos estan vinculados entre si: el agua,
el aire, la tierra, los animales, los bosques... Cada elemento mantiene una relacién con el resto, siendo
esta relacién también integrante de la naturaleza.

Ademés, es poseedora de sus propias leyes, y existe sobre la Tierra sin la necesidad de la
intervencion humana. Las plantas crecen espontdneamente, los entornos naturales se transforman
y realizan cambios de acuerdo con esas leyes, manteniendo un equilibrio. De la misma manera, el ser
humano halla su armonia cuando mantiene un equilibrio con todo lo que le rodea. Si esa armonia se
rompe, entonces aparece el desorden y los diferentes grados de enfermedad tanto en el hombre como en
el planeta.

El hombre necesita la naturaleza para su supervivencia Yy, a su vez, tiene la capacidad de utilizar la
naturaleza y adaptarla a sus necesidades para mejorar su calidad de vida, pero también es cierto que en
numerosas ocasiones abusa enormemente de ella provocando su destrucciéon. Sin embargo, ha de
modificar en muchos aspectos de sus comportamientos para que su relacion con la naturaleza sea
equilibrada y la vida humana en la Tierra se desarrolle de manera sostenible.

Cuando el planeta enferma nosotros también enfermamos. Los peligros que hacen enfermar nuestros
mares y océanos son, entre otros, la contaminacién, los desechos industriales, la explotacién inadecuada
y los derrames de petréleo.

Destruir la naturaleza sin respetar sus leyes ni su riqueza es lo mismo que no respetar al hombre que
habita en ella. Es responsabilidad de todos administrar los recursos naturales en base al respeto a la propia
naturaleza del ser humano y hacia las generaciones futuras.

Cuidando el medio ambiente, cuidamos nuestro medio social defendiendo nuestro bienestar
y fomentando una educacién al servicio de la humanidad.

En un planeta enfermo, donde los recursos naturales se destruyen, es muy probable que un gran
numero de habitantes también esté contaminado y desequilibrado.

"{Hagamos del planeta un lugar sano para vivir! jDigamos NO a la contaminacién!"

Adaptado de www.diariodeibiza.cs, Maria Martinez de la Vega, 10 de febrero de 2014

I-Comprension del texto (07 puntos)

1-Indica si es verdadero o falso.

Justifica con una palabra o frase

Frases VI|F del testo

a-Todos los recursos que nos ofrece la naturaleza
son complementarios.

b- La ruptura del equilibrio natural no afecta ni al
hombre ni al planeta.

c-La naturaleza satisface todas las necesidades del
hombre.

d-El deterioro del planeta dafia la vida del hombre.

2- Saca del texto los efectos negativos sobre la naturaleza.
3-,Qué ocurre si la armonia se rompe?
4- Da un titulo al texto.

4 a3 dada



13BAC201

Whiiw |

II-Competencia lingiiistica (07 puntos)
1-Rellena el recuadro.
Verbo Sustantivo Adjetivo
Modificar | eeeeceecerenene | eeeseceeseenn
........................... Diferente
Crecer |  eesseesesesss | esesseseecenn
............. Supervivencia

2-Une con flechas la palabra con su sinénimo o anténimo segin convenga:

Mantener Estabilidad
Hallar Sano
Desequilibrio Encontrar
Contaminado Guardar

3- Mantener limpio ¢l entorno.
Comienza la frase por:
SYO0 en tu JUGAT. .. cvvneriieeiei e

4- Completa la frase:

Tan pronto como respetemos las leyes de la naturaleza, (asegurar).......... una vida mejor a las

préximas generaciones.
5.El hombre destruye la naturaleza sin darse cuenta delas consecuencias.

Termina la frase:
-El hombre sigue..........cocounee

III-Expresion escrita (06 puntos)

Elige uno de los dos temas:

1- El Hombre piensa que los recursos naturales son inagotables.
,Qué consecuencias tendré esto sobre su vida y la de las generaciones futuras?

2- Segn tu opinién: ;Cémo podemos enfermar cuando enferma el planeta?

4 a4 dada :



2015 S1gr 1395 3305 Lo 03 5kt Uyt sOlbwast At A1 2328 Ll ghag derdged! Az i

goara | b

Y pacagall Aiay! walic

1pto
1pto
Ipto

Tptos

Ipto

2ptos

Ipto

2ptos
Tptos 3

2ptos

1pto
1pto

1pto

2ptos

6ptos | 4ptos

I- Comprension del texto :
1-Verdadero o falso.

a~Verdadero.

Justificacién: « aprender un idioma resulta bdsico para poder sobrevivir en un mercado
laboral tan competitivo. »

b- Verdadero.

Justificacién: « La ensefianza de lenguas extranjeras es clave para la construccion de la
identidad de la persona.»

c- Falso.

Justificacién: « Aprender un idioma nos abre la puerta a un mundo Jleno de
oportunidades laborales.»

2- Las empresas buscan a personas que tengan un nivel intermedio en Inglés.

3-Los beneficios de aprender idiomas extranjeros son:

_Tener la oportunidad de integrarse en el mundo profesional / laboral.
-Comunicarse con extranjeros.

-Conocer la cultura y las costumbres de otros paises.

-Tener mayor entendimiento del idioma nativo.

4-Titulo propuesto:
La importancia de los idiomas extranjeros. — Aprender idiomas extranjeros.
- Beneficios de los idiomas.

11 /Competencia lingiiistica:

1-Rellenar el recuadro. -

VYERBO SUSTANTIVO ADJETIVO

Conocer Conocimiento Conocido—a/

Conocedor - 2 Conocedor-a

Mejorar Mejora/ Mejoria Mejor

Acostumbrar/se Costumbre Acostumbrado-a

Aprender Aprendizaje-Aprendiz-Aprendiente Aprendido-a

2-Relacionar la palabra con su sindnimo o anténimo.

Basico —» Esencial Bésico = Esencial
Antiguo — Actual Antiguo # Actual
Conocimiento —Saber Conocimiento = Saber
Labor —Trabajo Labor = Trabajo

3- i Quién pudiese/ pudiera dominar ... !

4- El aprendizaje... para que los jovenes sepan su Cultura.

5- Completar con ser o estar:
Aprender Inglés es indispensable para el futbolista que est4 participando en la Premier

League.

III- Expresion escrita :
- Forma
- Fondo

_(107} Lo
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I-Comprension del texto.

1-Verdadero o falso.

a-Verdadero:

Justificacién: La naturaleza es un organismo...... naturaleza.
b-Falso:

Justificacion: Si esa armonia ... en el planeta.

c-Verdadero:

Justificacién: -El hombre necesita la naturaleza para su supervivencia.

d-Verdadero:
Justificacidén: En un planeta ... desequilibrado.
-Cuando el planeta enferma nosotros también enfermamos.

-Cuidando el medio ambiente, cuidamos nuestro medio social defendiendo nuestro

bienestar.
2- La enfermedad del planeta.

- La enfermedad de los mares y océanos a causa de la contaminacién , los desechos

industriales, la explotacién inadecuada y los derrames de petroleo.
3-Si la armonia se rompe aparece ... el planeta.

4- El equilibrio natural.
- E]l hombre y la naturaleza.
- (Hagamos del planeta un lugar sano para vivir!

TI-Competencia lingiiistica
1~ El recuadro.

VERBO SUSTANTIVO ADJETIVO

Modificar Modificacion -Mocdificable — Modificador/a - Modificado/a

Diferenciar/se Diferencia Diferente

Crecer Crecimiento Crecido (a) /Creciente

Supervivir /Supervivido (a)

Sobrevivir Supervivencia Sobrevivido (a) /Superviviente

il

2- Mantener —  QGuardar. Mantener
Hallar —  Encontrar. Hallar
Desequilibrio  —  Estabilidad. Desequilibrio
Contaminado —  Sano. Contaminado

Heoy N

3- Yo en tu lugar mantendria.......

4- Tan pronto como respetemos ... aseguraremos ...
5- El hombre sigue destruyendo..............

- Expresion escrita

- Forma:
- Fondo:

Guardar.
Encontrar.
Estabilidad.
Sano.

(108 |
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Mio padre aveva tante capacitd, sapeva tante cose, ma non mi ha mai voluto insegnare niente. O forse
si, quando ero proprio unz bambinz di quatiro o cinque anni, mi aveva fatto capire il principio della
somme ¢ della moltiplicazions. Ma quando gli ho chiesto di insegnarmi a nuotare non mi ha degnato di
una nsposta. Siccoms un giorno insistivo troppe, mi ha gewtato in mare dicendo: - Nuota !

In montagna mi diceva: - Cammina!

Desideravo tanto imparare anche a sciare, ma lui mi diceva semplicemente: - Va', scial

Cosi un po” di tecnica I'ho imparata da grande, per conto mio, pagando un maestro.

Eppure mio padre mi voleva molto bene; solo che secondo lui 'esempio doveva bastare: io dovevo
guardario nuetare, sciare e fo dovevo imitarlo. Qualche volta bastava, anche se rischiavo un po’: a volte
mi buttavo e facevo del mio meglio per restare a galla. Una volta mia madre ghi ha dato uno schiaffo,
perché mi aveva riportato a easa da una escursione in montagna che avevo le febbre alta, le Iabbra violette
per il freddo e i piedi quasi congelati,

Un’altra volta, invece, gli ho salvato la vita. Lui doveva panire la mattina presto per una gita in
montagna con gl amici. Ma io stavo male e lui non & partito. (Gli amici sono partiti ¢ hanno avuto un
brutto incidente stradale). lo ¢ mio padre eravamo come due compagni di viaggio, due sportivi, due amici
per la pelle, dovevamo intenderci con un solo spuardo,

Le parole crano di troppo e infani parlavamo pochissimo. Con me rideva, correva, giocava. Ma non
parlava, non dialogava.

Lui fra il parlare ¢ lo scrivere preferiva di gran lunga il secondo.
{ Adatt D, Maraink Bagherin)

amici per Ia pelle = amis pour la vie 3 3ladl 52a il

I/- Comprensione del testo: (07 punti)
1/ Dare un titolo al testo.
2/ Dire se é vero o falso.

[=
m

La frase

a/ Mio padre non aveva capacild, no sa niente.. [ |
b/ 11 papi aveva fatto capire a sua figlia il principio della somma |
e della moltiplicazione .

¢/ 1l papd doveva partire in gita al mare.

&/ Tra il parlare ¢ lo seritto il padre preferiva il primo.

4 el daia
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3/ Rispondere alle seguenti domande:
w/ Cosa aveva imparato 1l padre a sua figlia da bambina?
b/ Cosa desidersava imparare 1z figlia?
¢/ Che cosa & successo agli amici di suo padre in montagna?
d/ Gual ¢ la relazone wa 1l padre ¢ sua figlia?

1l/- Competenza linguistica: (07 punti)
A/ Lessico:

1/ Completare la tabella.

| Verbo Aggettivo
| s ——— insegnante
| : pagante

2/ Trovare nel testo 1 stnomimm dell= segeenu parole:
- [NSEENANRLE = .....ooccesimeniesurasmnn =RIMANEIE = i auscsssispissrig-sussamnss

3/ Trovare rel testo gli antonimi delle segusnti parole:
= NEMICE F oo e e - Indegnaio 2 ..o

4/ Completare gli spazi con le seguenti parole: Tommaso, era, padre, scrupoloso

v titando una dolla mia famigliaaveva.la febbre, Ia mamma chiamava sempee il dolor ... wp il DOStIG.
medico di fiducia. Arrivava sempre verso mezzogiomo, non so perché. Mio .......... &€ mia madre lo

conoscevano da quando aveva cominciato la professione e sebbene ancora inesperto avevano avato
fidueia in lui ¢ lui bisogna dire che se I'......... mentata, perché si era sempre dimostrato un professionista
13 1o

B/ Grammatica:
1/ Cosa sostituisce il pronome sottolineato nel testo.
2/ Dare la classe granunaticale delle parole sottolineate nel primo paragrafo,
3/ Trasformare i verbi della frase tra pareniesi nel testo al trapassaio prossimo.

1Y- Produsione scritia: (06 punti)
- Scegliere uno dei due temi:
Tema 1: 1 wioi geniton hanno lo stesso camanters o sono diversi?
- Come sono tuo padre e tua madre?
- Cosa ama ciascuno di loro?
- Chi dei due si arrabbia rapidamente e chi ¢ il pit affetituoso?
- A chi tu somagli?
- Quale dei due caratter preferisci? Perché?
A partire di queste idee scrivi un paragrafo,
Tema 2: A casa tua, tu vivi con la tua famiglia.
In aleune righe, prova a descriverla, parlando delle carauteristiche fisiche e morali.

4 a2 dada
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Uno spuntino.

Sara : Ho un po’ di fame, facciamo uno spunltina?

Maria : Ma & presio... fra un’orz e mezza ¢'é la pausa pranze. Non hai fatto colazione?

Sara : Jo non mangio mai niente la mattina. Siccome ho sempre fretta, al massimo bevo un caffe.
Maria : Fai molto male! Ci vogliono pochi minuti per fare colazione ed & il pasto pitt importante della

giornata. lo bevo sempre un caffe e maniio fette biscottate con burro @ mizle. cosi a pranzo non ho

molta fame.

Sara : Veramente?! leri, perd, hai preso primo, secondo, contorno e dolee...

Maria : ...E vero, perd dopo, 2 cena non ho mangiato niente. Comungue, di solito preferisco una cena
leggera: un'insalzia, della frutta... cose che ci metto poco a preparare,

Sara : o, in venere, se mangio molto a pranzo, salio sempre la cena. Faccio merenda verso le sei del
pomeriggio e sono a posto.

Maria : lo, in ogni caso, cerco di cenare presto, non dopo le otto. E w?

Sara : Anch’io, pitl 0 meno a quell’ora li.

Adattatd da : progetto italiano (13 livello A1- A2 Edilingua.

Spunting = casse-crolite = Aldd duay

I /- Comprensione del testo: (07 punti)
1/ Dire se & vero o falso,

La frase | ¥

a/ Sara non mangia niente la mattina. I
b/ Maria beve sempre un cappuccine e mangia un pexzo di pane
con burro. .

of Sara fa merenda verso le sei del pomeriggio.

| &/ Marin cerca di cenare alle otto.

I

2/ Rispondere alle seguenti domande:
af Perché Sara ha fame?
b/ Cosa beve Sara di solito a colazione e perche?
ef Qual & il pasto pilt importante della giomata per Maria?
d/ Per quale ragione Maria preferisce fare una cena leggera?
¢/ Come cenano in genere le due ragazze?

4 a3 dada
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11/ Competenza linguistica: (07 punti)
Al Lessico:
1/ Trovare nal testo 1 sinonimi delle parole seguenti:
- Giusto =. - Tanto=.
2/ Trovare nel testo gli antonimi d2lle parole seguenti:
- Mipimo 2. -Bene# ..

3/ « Siccome ho sempre fretta », la parola sottolineata vuol dire:
a- Spesso b- Opni volta ¢- Raraments

B/ Grammatica:
1/ Mettere i verbi sonolineati alla seconda persona plurale.
« Ho un po’ di fame, facciamo uno spuatino ».

2/ Completare la frase con Ia forma varbals comspondente.
« Ci vogliona pochi minuti per fare colazione ».
@ s oresssenesscmnenneser. UM MinLI0 per nispandere alla domandan

3/ Mettere il verbo sotrolineato 2ii’ imperfetio,
{f o051 @ pranzo non ho molta fame ».

Mmlwﬂwmﬁimmmmsﬂ&m. E o IR S ——
t ...nneodd CENA MON ho mangiato niente »,

HI/ - Produzione scritta: (06punti)
-Scegliere uno dei due temis
Tema 1: Raccontate I'ultima volta che avete mangiato in un ristorante: in quale occasione?
- Com’e il nistorante?
- Come sono 1| camerieri (simpatici, antipatict......)?
- Cosa avete ordinato da mangiare € bere?
- Quali sono i piatti preferin?

Tema 2: Dite cosa preferite: la cucina algerina wradizionale o moderna, Perché?

4 Had daba
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7pnt I. Comprensione del testo:
: 01 1- Titolo: -Mio padre. / -Una figlia ¢ suo padre.
0.50x4| 2- Vero o falso: a-Falso. b-Vero. c¢-Falso d-Falso.
3- Le risposte alle domande:
01 a-Jl padre ha imparato a sua figlia da bambina il principio della somma e della
moltiplicazione.
01 b-La figlia desiderava imparare il nuoto e lo sci.
01 ¢-Gli amici di suo padre hanno avuto un brutto incidente stradale.
01 d-La figlia e suo padre hanno una relazione di amicizia.
7pnt I1. Competenza linguistica:
A/Lessico:
0,50x2
1- Verbo Aggettivo
insegnare insegnante
pagarc pagante
0,50x2| 2- Insegnante = Maestro - Rimanere = Restare
0,50x2| 3- Nemici # Amici - Indegnato # Degnato
025x4| 4~ il dottor Tommaso... . Mio padre ...che se ’era ... serio e scrupoleso.
B/ Grammatica:
01 1-lo: il padre .
0,50x2| 2-a-Tante: aggettivo indefinito.
- b-Troppo: pronome indefinito.
0,50x2 3-... erano partiti ¢ avevano avuto... .
6pnt L. Produzione scritta:
02 Forma:
04 Contenuto:
Tema 1:
1- Introduzione:
2-Sviluppo:

_Le caratteristiche morali della madre (rappresenta I’affezione, I’amore ¢ la

tenerezza...)

_Le caratteristiche morali del padre (capo della famiglia, rappresenta la protezione ¢

I’autorita...)

-La somiglianza delle caratteristiche morali tra i figli e i loro genitori.
3-Conclusione:

Tema 2:

1- Introduzione:

2-Sviluppo:
-La descrizione fisica dei membri della famiglia:
a- il viso (naso, bocca, occhi, capelli...)
b-il corpo (altezza, peso...)
-La descrizione morale dei membri della famiglia:

(simpatici, antipatici, allegri,gentili, intelligenti...)

-1’ abbigliamento (sportivo, classico...)

3-Conclusione:

(109 )
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I. Comprensione del testo:

1- Vero o falso: a- Vero. b-Falso. c-Vero. d-Falso.

2- Le risposte alle domande:

a- Sara ha fame perché non ha mangiato niente la mattina.

b- Sara beve solo un caffé perché ha sempre fretta.

¢- 11 pasto pitl importante della giornata per Maria ¢ la colazione.

d- Maria preferisce fare una cena leggera perché ci mette poco tempo a prepararla.
e- Di solito, Sara salta sempre la cena, mentre Maria cerca di cenare presto.

I1. Competenza linguistica:
A/ Lessico:
1- Giusto = Vero - Tanto = Molto
2 - Minimo # Massimo - Bene # Male
3 - Ogni volta
B/ Grammatica:
1- "Avete... fate..." .
2- Ci Vuole.
3- Avevo.
4- Avevo mangiato.
1I1. Produzione scritta:
Forma:
Contenuto:

Tema 1:
1- Introduzione: in occasione di (una passeggiata nel centro, invitare un amico
per la festa del capodanno in un ristorante famoso...).

2-Sviluppo:
-1l ristorante ( grande, bellissimo...).
- | camerieri ( simpatici, divertenti ...).
- Da mangiare: spaghetti al ragh, bistecca ai ferri...
- Da bere: Coca Cola, acqua minirale...
- Piatti preferiti: spaghetti, maccheroni...
3-Conclusione:
Tema 2:
1- Introduzione:
2-Sviluppo:
a- Cucina algerina tradizionale:
- I piatti e le ricette sono spesso stati creati dalie nonne pitt che da chef.
- La caratteristica principale & la sua semplicita.
- La preparazione richiede molto tempo.
- Ricca di sapori e prodotti tipici.
- Consiste in ricette basate su ingredienti coltivati naturalmente...ecc.
b- Cucina algerina moderna:
_Pasti veloci al fast food: & una soluzione economica, ma poco nutritiva.
- La caratteristica principale : una cucina diversificata.
- Prodotti piti condizionati: presenza di conservanti, coloranti, prodotti chimici,
sale in eccesso...ecc.
- Gusti e sapori diversi, nuovi.
- Ci si mette poco tempo a prepararla.
- Molte persone per mancanza di tempo, non mangiano a casa.....ecc.

3-Conclusione:

2 /2 inie
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Seksu s uderyis

Imaziyen zik, tudert-nsen akk turez yer ugama, yer tkerza. Anect-a, ad t-id-yegzu umdan
seg wansayen i yurzen yer tudert-asen s umata. Ad ten-naf sean yiwet n tiremt d tuzzigt i yal
tasemhuyt : Yennayer, yal tamnadt d acu i txeddem ; amenzu n tefsut, d seksu s uderyis ;
amenzu n unebdu d ayrum s zzester. Nekni ass-a ad d-nemmeslay yef seksu s uderyis.

Seksu s uderyis, d yiwen seg wansayen n tmurt n Legbayel, deg tama n usamar.
Sewwayen-t ass amenzu n tefsut yer Yimaziyen, yettusemma ass n 28 deg furar n usezmez
agriguri.

Aderyis, d yiwen n yimyi iferrawen-is ttaken anzi(ttcabin) yer wid n wuffal, d acu kan
izuran-is d izuranen. D izuran-a i d-qqazen, ad ten-id-awin ad asen-kksen akal. Aderyis, ur ilaq
ara ad t-imasi (isami) yiwen s ufus-is acku ittett deg yifassen.

Ass-nni, tilawin ad d-niwlent seksu ; irgazen ad ruhen yer ssuq ney yer yigran ad d-awin
aderyis ; izegzawen am yibawen, tajilbant, lebsel, itemtumen. Wi, zik ttilin yer twaculin d
iquranen, rennun-asen lbatata, zrudiya d lleft, ma d timellalin am tura, win yesgan tiyuzad i as-
d-yettarwen ad d-yejmee, ma d win ur nesei, ad d-isey seg ssuq.

Izuran-nni n uderyis, ad wwen akked tmellalin deg teccuyt s waman, ad as-rren kra n
tisent(lemleh). Ma d izegzawen-nni ad ten-zewren yer useksiw ad rnun fell-asen seksu, ad d-
wwen akk s wurragen(leffar) n uderyis-nni.

Mi ara d-wwen akk, ad d-tesmir tmettut aseksiw-nni yer tziwwa, ad texled nezzeh
izegzawen-nni akked seksu. Syin, ad d-qgimen wat uxxam yer wulli. Seksu s uderyis,
yettwallay mebla Imerga, yettwaxdam am umegful (Imezfuf) ; yettwadhan s zzit n uzemmur,
llan wid i as-irennun ssker.

Qgaren-d, ur ilaq ara ad isew yiwen aman deffir seksu s uderyis ; daymi ttetten yimdanen
¢¢ina deg wadeg n waman, Tiremt-a tuzzigt n tefsut, xeddmen-tt d asafar ara igablen attan n
ubehri i yettilin deg tazwara n tefsut. Deg tazwara n tefsut, yettili wadu swayes yegguggug
ugama day ssufuyen-d yisekla akked yimyan s umata ijeggigen-nsen. S tezmert-nwen a wid t-
ixeddmen !

Ansay-a, yettili deg yiseggasen i yezrin, asmi i llan Yimaziyen tttidiren s wayen i d-
ttekksen kan seg wakal-nsen ; llan wid yesean llan wid ur nesei. Ma d tiremt-nni n seksu s
uderyis, mazal ar ass-a xeddmen-tt ; xeddmen-tt tura tdukliwin deg tuddar. Taggara-ya,
xeddmen-tt ula deg tesdawiyin.

Malek BELDJOUDI, Aymis "La cité",N° 262,
Le dimanche 2 mars 2014 ,s.b.15
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Isestanen :
1/ Tigzi n udris : (06/06)
1. Melmiiyettwaxdam seksu s uderyis ?
2. Ayyer urilaq ara ad nmasi (ad nsami) aderyis s ufus ?
3. Irgazen, ttekkin deg uheyyi n seksu s uderyis. Ini-d amek ?
4. Kkes-d segudris abayur (lfayda) i yesea seksu s uderyis i umdan.
5. Mugel tanfalit-a : ad as-rren kra n tisent.
- Dacuidanamekiyesea wawal i yettuderren deg tefyirt-a 7
6. D acu-t wanaw n udris-a ?
11/ Tutlayt : (06/06)
1. Af-dtalya taherfit n umyag-a : ad wwen
2. Sled tiwuriwin n wawalen n tefyirt-a : ad asen-kksen akal.
3. Semmi-d isumar n tefyirt-a, tinid-d assay i yellan gar-asen :

« ur ilaq ara ad t-imasi yiwen s ufus-is acku ittett deg yifassen. »

111/ Afares s tira: (08/08)

Tiremt-nni n seksu s uderyis, mazal ar ass-a xeddmen-tt ; xeddmen-tt tura tdukliwin deg tuddar.
Taggara-ya, xeddmen-tt ula deg tesdawiyin.
Atas n wansayen (leewayed) i mazal ar ass-a xeddmen-ten yimdanen, ama deg yixxamen
ama deg tdukliwin ney deg yiyerbazen.
Fren yiwen seg-sen (ansayen), segzu-d d acu i xeddmen seg tazwara alamma d taggara.
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Aseksu(aberbuc)s uderyis

Imaziyen zik, tudert-nsen tebna yef ugama, yef tkerza. Ma nexs, ad t-id-yegza umdan seg
wansayen( leewayed) yellan di tudert-nsen s umata. Ad hen-naf sean tict n tiremt d tuzzigt i
yal yimer : Yennar, yal tamnadt d matta txeddem ; amenzu n tefsut, d aseksu s uderyis ; amenzu
n unebdu d ayrum s zzeeter. Ne¢ni ass-a ad nutlay yef seksu s uderyis.

Aseksu s uderyis, d yict seg wansayen n tmurt n Legbayel, deg tama n usamar.
Sewwayen-t(ssemmayen-t) ass amenzu n tefsut yer Yimaziyen, yettusemma ass n 28 di furar n
usezmez n yifellahen.

Aderyis, d yict n yimyi iferrawen-nnes ttemcabahen yer yin n wuffal, izuran-nnes d
izewwaren. D izuran-a i d-qgazen, ad hen-d-awin ad asen-kksen acal. Aderyis, ur ilaq c ad tilaf
yict s ufus-nnes acku(axater) ittett seg yifassen.

Ass-idin, tisednan ad fetlent aseksu ; irgazen ad ruhen yer ssuq ney yer yigran ad d-awin
aderyis ; ibawen, tajilbant, lebsel, itemtumen. ... zik ttilin yer twaculin d ineqqura, rennin-asen
Ibatata, zrudiya d lleft, ma d timellalin am yimira, win yesean tiguzad ttarunt ad d-yejmee, ma
d win ur yesein c, ad yesey si ssuq.

Izuran-idin n uderyis ad mmen( ad nwan) akked tmellalin di tasilt s waman ad as-derren
cra n tisent. Ma d izegzawen ad hen-fewren deg useksak ad rnin fell-asen seksu, ad mmen s
wurragen(leffar) n uderyis.

Mi ad mmen ukkel, ad tesmir tmettut aseksak-idin di tziwwa, ad texled mlih izegzawen-
idin id n useksu , ad qgimen wayt uxxam yer wul¢i(walu). Aseksu s uderyis, yettwac¢ay bla
Imerg, yettwaxdem am umegqful (Imesfuf) ; yettwadhen s zzit n uzemmur, llan wid i as-irennin
ssuker.

Qgqaren, ur ilaq c ad yisew yict aman deffer n useksu s uderyis; ttetten yimdanen ¢¢ina
deg wadeg n waman. Tiremt-ay tuzzigt n tefsut, xeddmen-tt d asafar n wattan n ubehri i
yettilin di tazwara n tefsut. Di tazwara n tefsut yettili wadu yes-s i yegguggug (yesnewwir)
ugema ; ssragent tisekla akked yimyan s umata tijeggigin-nsent. S tezmart-nwen a wid t-
ixeddmen !.

Ansay-a, yettili deg yiseggasen i yezrin, asmi llan Yimaziyen tteddren s wayen i d-
ttekksen seg wacal-nsen ; llan yid yesean, llan yid ur sein c. Ma d tiremt-idin n useksu s uderyis,
mazal al ass-a xeddmen-tt ; xeddmen-tt lug-a ddukkilen deg igewwira. Taggara-ya, xeddmen-tt
ula di tesdawin(tesdawiyin).

Malek BELDJOUDI, Aymis "La cité”,N° 262,
Le dimanche 2 mars 2014 ,5.b,15

Isestanen :
1/ Tigzi n udris : (06/06)
1. Melmiiteggen (xeddmen) aseksu s uderyis ?
2. Mayef urilaq c ad nlaf aderyis s ufus ?
3. Matta xeddmen irgazen n wayt uxxam ass n uftal nuseksu s uderyis ?

4, Kkes-d segudris abayur ( Ifayat ) yesea useksu s uderyis i umdan?
5. Qqel di tenfalit-ay : ad as-derren qli n tisent.

Matta d anamek i yesea wawal i yettuderren deg tefyirt-a?
6. Mattad anaw n udris 7
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I1/ Tutlayt : (06/06)

1. Af-dtalya taherfit n umyag-aya : ad mmen
2. Sled tafyirt-a : ad asen-kksen acal.

3. Semma-d isumar n tefyirt-aya, tinid-d assay yellan jar-asen :

« ur ilaq ¢ ad t-ilaf yict s ufus-nnes acku ittett seg yifassen. »
111/ Afares s tira: (08/08)

Tiremt-idin n useksu s uderyis, mazal ald ass-a xeddmen-tt ; xeddmen-tt imir-a(lug-a)
ddukilent deg yigewwura. Taggara-a, xeddmen-tt ula deg tesdawiyin.
Ggut n wansayen (leewayed) mazal ald ass-a xeddmen-hen yimdanen, ama deg yixxamen ama
deg tdukliwin (tiduklatin) ney deg yiyerbazen.
Fren yiwen seg-sen (ansayen), segzu-d matta i xeddmen seg tazwara yer taggara.
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Yir rray
zik-nni, llan tlata n watmaten ttidiren dduklen am yidudan n ufus. Tteeddin wussan,

ttemsukkasen-d, ttnayen armi kkren yer bettu. Bdan tamezduyt, rnan tiferkiwin.Teqqgim-asen-

d yiwet n tzemmurt, tezga-d gar-asen.

Yenna-yas umeqqran : - D nekk ara tt-yawin, d nekk i d ameqggran. Yenna ulemmas deg-
sen : - Ala, d nekk kan ara tt-yawin, ifurkan-is malen-d yer wayla-w (wakal-iw). Ma d amectuh
yesmeh, yenna-yasen : Nekk fkiy-awen-tt. Ttnayen akken, yal wa yeqqar i wayed d nekk ara tt-
yawin. Armi ulac sswab, ruhen yer yiwen n umyar ad idebber fell-asen.

Nnan-as : Akken twalad igerrez, ad nexdem.

Yenna-yasen .- Yeshel rray-is, ruhet. Mi awen-d-ssawley, aset-d.

Yekker umyar-nni yessawel i yiwen yesseylay isekla, yenna-yas :

Seyli tazemmurt n leflani, gzem-itt d isyaren tferqed-ten yef sin n yimuren.

Yessawel-asen umyar i sin n watmaten-nni, yenna-yasen: - Ha-tt-an tzemmurt-nni,
tuyal d isyaren, yal yiwen deg-wen ad yerfed amur-is. Ruhen ddmen isyaren-nni. wwin-ten,
uyalen s ixxamen-nsen ferhen. Yeggra-d wawal qqaren-t :

« D yir rray i igelleen tazemmurt »

« Nuday yef yixef-is ; Ufiy azar-is »

Remdane LASHAB, Zik-nni deg wat Dwala, sb.72-73

Isestanen:
1/ Tigzi n udris : (06/06)

1. Deg tseddart tamezwarut, anallas d agensay ney d azyaray ?
Mi bdan watmaten, ufan-d ugur. D acu-t ?
Amek i yefra umyar ugur-nni?
Af-d iger n umawal ( aktawal ) n wawal “ccwal”seg udris.
D acu-t wanaw n udris-a ?

oo WD

11/ Tutlayt : (06/06)
1. « Ruhen ddmen isyaren-nni, wwin-ten, uyalen s ixxamen-nsen ».
_  Bdutinawt-a akka: truh....
2. Sled tafyirt-a : yessawel-asen umyar.
3. Semmi-d isumar n tefyirt-a, tinid-d d acu i d-temmal tesyunt i ten-yeqqnen.
- Mi awen-d-ssawley, aset-d.
111/ Afares s tira: (08/08)
D ddyel ( ccer ) i d-yeslalayen amennuy gar yimdanen.
lmend n tinawt-a, ales-d kra n tedyant i yeqqnen yer wanect-a.
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Rray afewwah

7ik, llan tlata n wawmaten tteddren, dduklen am yidudan n ufus. Tteeddan wussan,
ttemsukkasen-d, ttnuyen ald ixelden yer bettu. Bdan tamezduyt(axxam), rnin tiracqay.Teqqim-

asen-d tict n tzemmurt, tusi-d jar-asen.

Yenna-as umeqqran : - D ne&¢ ad t-yawin, d ne¢t i d ameqqran. Yenna ulemmas deg-sen
.- Aha, d ne&t ad t-yawin, rrsem-nnes iwella-d yer wayla (wacal) -inuy. Ma d amezyan yesmeh,
yenna-asen : Ne&¢ uciy-awen-tt. Ttnuyen, yal wa yeqqar i wid(win) d ne¢c ad t-yawin. Almi ulac
sswab, ruhen yer umyar ad idebber fell-asen. Nnan-as : matta yehlan, ad t-nexdem.

Yenna-asen : - Yeshel rray-nnes, ruhet. Mi awen-d-ssiwley, aset-id.

Yekker umyar-idin ilaya (yessawel) i win igezzmen tisekla, yenna-as :

Bbi (ssehwa-d) tazemmurt n leflani, gzem-itt(qasi-tt) d isyaren tferged-hen yef sen n yimuren.

ilaya-sen umyar i sen n wawmaten-idin, yenna-asen : - Ha-tt-ayen tzemmurt-idin, twella
d isyaren, yal yict deg-wen ad yerfed amur-nnes. Ruhen refden isyaren-idin, wwin-hen, wellan
yer yixxamen-nsen ferhen, Yeggra-d wawal yettwannayen (qgaren-t) :
« D rray afewwah i igelleen tazemmurt »

« hewwsey yef yixef-nnes ; Ufiy azar-nnes »

Remdane LASHAB, Zik-nni deg wat Dwala, sb.72-73

Isteqgsiyen:
1/ Tigzi n udris : (06/06)

1. Deg tseddart tamezwarut (tamenzut), anallas d agensay niy d azyaray ?
Mi bdan wawmaten, ufin ugur (muckil). Matta yella ?
Mamek is-d-yufa umyar ferru (lhell)  wugur-idin ?
Af-d iger n umawal ( aktawal ) n wawal “ccwal” (inuyan) seg udris.
Matta d anaw n udris-aya ?

o e

11/ Tutlayt : (06/06)
1. « Ruhen refden isyaren-idin, wwin-ten, wellan yer yixxamen-nsen »
- Bdutinawt-a amma : "trub..come f

2. Sled tafyirt-a : ilaya-sen umyar.
3, Semma-d isumar n tefyirt-a, tinid-d matta id-temmal tesyunt i hen-yeqqnen.
- Mi awen-d-ssiwley, aset-id
111/ Afares s tira: (08/08)
D ddyel ( ccer } i d-yeslalayen inuyan jar yimdanen.
Ilmend n tinawt-a, ales-d ca n tedyant i yeqgnen yer tyawsa-aya.
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1/ Tigzi n udris
01 1. Yettwaxdam seksus uderyis:
- ass amenzu n tefsut
- ass n 28 deg Furar n usezmez agriguri.
- Asmiillan Yimaziyen ttidiren s wayen id-yefka wakal-nsen.
01 2. Urilaq ara ad nmasi aderyis s ufus acku ittett deg yifassen.

06 01 3. Irgazen, ttekkin deg uheyyi n seksu s uderyis imi d nutni i d-
yettawin aderyis seg lexla (igran) ney deg ssug, ttayen-d dayen
izegzawen (Ixedra).

01 4, Abayur i yesea seksu s uderyis: d asafar n wattan n ubehri.
01 5. Anamek i yesea wawal ad rren: ad raun, ad gren, ad gedlen, ad gen,
ad zuzren, ad xedmen...
01 6. Anaw n udris-a d asegzan (d imsegzi).
11/ Tutlayt
01 1. Talya taherfit n umyag : ad wwen: eww
2. Aslad n tefyirt :
0.5 - ad : d tazelya n wurmir.
0.5 - -asen : d amgim awsil asemmad arusrid.
0.5 - -1 : d amatar udmawan / d ameskar (d amigaw, d asentel).
- kks- : d afeggag / d aseyru.
0.5 - akal : d asemmad usrid.
0.5 3. Asemmi n yisumar d wassay i ten-yeqqnen:
06 ur ilaq ara ad t-imasi yiwen s ufus-is acku ittett deg yifassen.
1 - urilaq ara ad t-imasi yiwen s ufus-is : d asumer agejdan.
1 - acku ittett deg yifassen : d asumer amsentel n tmentilt.
0.5 - assayiyellan gar yisumar-a : d tamentilt, temmal-it-id acku.
111/ Afares s tira
- Anaw n udris :
0.5 - Banen-d yiferdisen n tegnit n tmenna : amesgal, iswi, isalan iwatan
(izen), anermas, ...
08 0.75 - Tikta ddant d usentel
0.5 - Tayessa n udris tefrez.
0.5 - Agader n tecrad n wanaw n udris.
- Tutlayt :
i 0.5 - Asemres n yinamalen iwatan.
B 48 } 16 ool Ankis
\




2015 ot g 15,90

Uy SN Oloezal @ 5 g drd ot Al

530 5L 2 :aull Caddl g 1 L2l Ao sl ARUL 1Babe jlas!
0.5 - Asefti n yimyagen yer tmezra iwatan.
0.5 - Asemres n umawal iwatan.
0.5 - Asemres n yisemmaden akken i d-yewwi ad ilin.
0,5 - Agader n yilugan n tira.
0.5 - Asigez n udris.
~ Taseddast / Tazdawt
0.5 - asebded n tefyar tummidin
0.5 - Tuqqgna gar tefyar akked tuggna gar tseddarin.
0.5 - Asemres n yixulaf (tikkesrert).
- Udem n ufaris :
0,5 - Tettwatham tira.
0,25 - Tellatama i yal taseddart.
0,25 - Yella ujerrid gar tseddart d tayed.
0,25 - Tira n usekkil ameqqgran anda iwata.
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11/ +3tlen+
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2. *QlE | ++XNEO0t :
0.5 ~o/\: A teRzlYe | 330LEO.
0.5 - s3] : A sCZEL 2O&l *O+LLNA *O:OO0EA.
0.5 |-t A eCe400 AL 2], A sL3OR=0 (A sLEXe2, A O +31).
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1/ Tigzi n udris
01 1. Yettwaxdam useksu s uderyis:
- ass amenzun tefsut
- ass n 28 deg Furar n usezmez agriguri.
- Asmiillan Yimaziyen tteddren seg wacal-nsen.
01 2. Urilaqc ad nlaf aderyis s ufus acku ittett seg yifassen
06 : : Ty %
01 Irgazen, ttekkin deg uheyyi n useksu s uderyis imi d nehni i d-
yettawin aderyis seg lexla (igran) niy deg ssugq, ssayen-d dayen
izegzawen (lxedra).
01 4, Abayur yesea seksu s uderyis: d asafar i wattan n ubehri
01 5. Anamek i yesca wawal ad derren: ad rnin, ad gren, ad eedlen, ad
gen, ad zuzren, ad xedmen...
01 6. Anaw nudris-a d asegzan (d imsegzi)
11/ Tutlayt
01 1. Talya taherfit n umyag "ad mmen" : emm
2. Aslad n tefyirt :
0.5 - ad : d tazelya n wurmir
0.5 - asen : d amqim awsil asemmad arusrid
0.5 - kks- : d afeggag / d aseyru
0.5 - -n : d amatar udmawan / d ameskar (d amigaw, d asentel)
0.5 - acal : d asemmad usrid
06 3. Asemmi n yisumar d wassay i ten-yeqqgnen:
ur ilag ¢ ad t-ilaf yict s ufus-nnes acku ittett seg yifassen.
1 - urilaq ¢ ad t-ilaf yict s ufus-nnes: d asumer agejdan
! - acku ittett deg yifassen : d asumer amsentel n tmentilt
i - assay i yellan jar yisumar-a : d tamentilt, temmal-it-id
acku
111/ Afares s tira
- Anaw n udris :
0.5 - Banen-d yiferdisen n tegnit n tmenna : amesgal, iswi, isalan iwatan
(izen), anermas, ...
0.75 - Tikta ddant d usentel.
0.5 - Tayessa n udris tefrez.
0.5 - Agader n tecrad n wanaw n udris.
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- Tutlayt :

0.5 - Asemres n yinamalen iwatan,

0.5 - Asefti n yimyagen yer tmezra iwatan.

0.5 - Asemres n umawal iwatan.

0.5 - Asexnres n yisemmaden akken i d-yewwi ad ilin.

0,5 - Agader n yilugan n tira.

0.5 - Asigez n udris.

08 - Taseddast / Tazdawt

0.5 - asebded n tefyar tummidin.

0.5 - Tuqqna gar tefyar akked tugqna gar tseddarin.

0.5 - Asemres n yixulaf (tikkesrert).
- Udem n ufaris :

0,5 - Tettwatham tira.

0,25 - Tellatama i yal taseddart.

0,25 - Yella ujerrid gar tseddart d tayed.

0,25 - Tira n usekkil ameqqran anda iwata.




2015 014 5,55 0, I Bl g 354 e gt B
330 5w 2 3l il o ¢ dasdl PP PR PRIC Y
] Yir rray cibiay)
goaed | Bl
1/ Tigzi n udris
01 1. Anallas deg tseddart tamezwarut: d azyaray.
01 2. Asmi bdan watmaten ufan-d ugur:
-D tazemmurt.
06 - Teqqim-asen-d yiwet n tzemmurt gar-asen.
- Bettu n tzemmurt...
01 3. Tifrat i asen-d-yufa umyar : yegzem tazemmurt d isyaren, yebda-
ten gar-asen.
0,5x4 4. Aktawal n wawal ccwal daxel n udris : ttemsukkasen, ttnayen,
bettu, ulac sswab, seyli, yir rray...
01 5. Anaw n udris-a : d ullis.
II/ Tutlayt
0,5x5 1. Truh teddem isyaren-nni. Tewwi-ten, tuyal s axxam-is.
2. Aslad n tefyirt:
0.5 -y~ : d amatar udmawan / d ameskar (d asentel, d amigaw.
0.5 -ssawel : d afeggag / d aseyru.
06 0.5 -asen : d amqim awsil asemmad arusrid.
0.5 -umyar : d asemmad imsegzi (n umeskar).
3. Asemmi n yisumar:
0.5 - Aset-d :d asumer agejdan.
0.5 - Mi awen-d-ssawley : d asumer amsentel n wakud.
05 - Mi : d tasyunt n wakud.
11/ Afares s tira
- Anaw n udris :
0.5 - Banen-d yiferdisen n tegnit n tmenna : amesgal, iswi, isalan iwatan
(izen), anermas, ...
0.75 - Tikta ddant d usentel
0.5 - Tayessa n udris tefrez.
0.5 - Aqader n tecrad n wanaw n udris.
08 -Tutlayt :
0.5 - Asemnres n yinamalen iwatan.
0.5 - Asefti n yimyagen yer tmezra iwatan
0.5 - Asemres n umawal iwatan.
0.5 - Asemres n yisemmaden akken i d-yewwi ad ilin.
0,5 - Agader n yilugan n tira.
0.5 - Asigez n udris.
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- Taseddast / Tazdawt

0.5 - asebded n tefyar tummidin

0.5 - Tuqqna gar tefyar akked tuqqna gar tseddarin.

0.5 - Asemres n yixulaf (tikkesrert).
- Udem n ufaris :

0,5 - Tettwafham tira.

0,25 - Tellatama i yal taseddart.

0,25 - Yella ujerrid gar tseddart d tayed.

0,25 - Tiran usekkil ameqqran anda iwata.
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1/ Tigzi n udris
01 1. Anallas deg tseddart tamezwarut : d azyaray
01 2. Asmi bdan wawmaten ufan-d ugur : - n tzemmurt
-Teqqim-asen-d tict n tzemmurt jar-aser.
06 - bettu n tzemmurt...
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